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Child development and pedagogy

frdar: Profefan ol @ s 2 % forg wét
Twgw fren g

Instructions: Choose the right / most appropriate option |

10 answer the l'ol]owmg questions.
L e Ewil |
T HuT WE %v T ‘ S

WEich of the following statements about assessment is true? |
A STFer | faenfefal ) @ wer et e |
53 st vl s Rl - o |
e TRgEr 3= 9F W W@ 1
Assessments should help the students to see their |

strengths and weaknesses and the teacher can [
correct them accordingly. |~

B. 3Ther w+ft mefw ¢ wm frenfefal W |
oS e ¥t : |
Assessment is only meaningful when students have |

" acomparative evaluation.

C. 3o Had TRONITR &1 & e, aﬁema

R
WA F1 f T e ,mf*"’%}
o V‘
Assessment should not only be of memory, but alsgs, @
insight and application. \‘

D. mﬂmwﬁwqﬁﬁwmﬁ;"
wﬂwaﬁﬁmwwaal y

| N
Assessment can not be purpOseFul unless the fear |
and nn\lety are commumcdled to hlm et Sy |

() Band/ 3R D (b) Aand/2i7 C’ e
(c) Band/ 3R C. (d) Aand/ﬁ‘( B . |
2. ﬁrma:rax’r‘aﬂraﬁzﬁm 2009%W:
ﬁv“raanavmar@rao—oﬁ a&mmﬁu |

AccordmglotheActafEducallon,2009 children with |
.-ecial needs’ should read: |
a)mﬁﬁmaua@nnwmaﬂﬁma%|

wﬁwﬁﬁm mmaﬂanqﬁiaﬁmmm |

With l'lC pr0v1s10n in the inclusive education system |
that their mdmdual needs can be met.

. (b) EHIEF TRIE B 0 S 3% Sad wRrer |
& ﬁ'aT( el |

In Lhe vocanonal tiaining centers which they will |
prepare for life skills. {

(c) ™R T AT~ 3K S@el i arell & Wiy S |
IT AIYIF TRl SUFH FY |
Tied with parents and carers at home who provide |
them the necessary support |

I

I

(d) TEER W 3= o ferg s g faw feawrer |

: 38B, 'égmudrq‘Cmnp-'lex, n_eai'f!aj_'iém-'I:ouier‘; Ranchi

Especially in special sthools d
fow ey W fafae
CARcR CICRNECE

The classroom where stu
backgrounds, thereisan effective teacher:

ﬁaﬂ%@ﬁmﬁ‘@

qs'{ﬁt‘@‘ﬁaﬁ!ﬁm

dents come from different

the stude oflhe prwed background to
fithat t?]%z.xp_:an reach equai level with

l? .
w90 & g TRt

e g "v-.- T @[ WM
foca S;%:l'lht:l" cultarai information to tell
div 1dyal differsnces in the group.

‘ ﬁﬁiﬁ%ﬁﬁam%mmmww

M1lch the following evolution principles with their
“correct description:

ﬁiﬁ'l?/[’inciples “cWh/Descriplion
(@) THU-gufinga faen () fafir= o= -
Proximo distal direction w A Eﬁﬁ g

Different children
grow at different rates

(b) fOr. i@ fgen i) for @ W wA
Cephalo-caudal direction  Head-to-foot sequence
¢) adafeme =t (iii) freht a@d a=a |
Interpersona! differences o = T fomm

® T &1 i STe
2ad + =1 8 weRd! §

The rate of develepment

in asingle child can

vary from one region
of deveiopmenttoanother.

) sfauaatams = (iv) ‘ﬂﬂ'{ﬁﬁﬁm
Intrapersonal differences H AN
Outofthecenterofthe body
(v) T | wfed &

S gl
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Increase from Simple |
@ ® © @ 10 complex :
(@) (i) (v) (i) (i) ‘
® O @ 0 |
© 0 @ 6 . G |
@ @ ™ 0O i I
5. meﬁaﬁﬁﬁmﬁfﬁnmftﬁ
FH-UT FIAT Wt 2?2 | l

Which of the following statements is correct about |

~cognition and momentum? 1
(a) T el ) wenfe e } g wam wE ) |
wwifad & Il
Cognition affecls inomentum but the momentum
does not affect cognition.

* (b) ﬁnmﬁwmm%ﬁamq&wﬁmﬁ
ywifad &l e
Momentum affect cognition but cognmon does not |
affect momentum. |

(c)wmmaénwgé%sﬁxw-@iams

- wn“aamé% B

affecr each other.
(@ €9 3R Ha TH-gWm | wEdA

Cognition and momentum are,«mdepend X

processes from cach other. & "%
LY

6 ﬁﬁuﬁmﬁﬁrw@wﬁyﬁm

acceptablhry.oft! peurs

(b)WWMWWﬁHmWMaﬁI
SIS @ STTER. e STe feha S =y
Should not be implemented and students should be :
“separated-according io their abilities. I

(c) Haw FI- mﬂﬁuummvmanmwﬁl
7 ewicdl § qor | @Gl & T |
Should be used only occasionally as it promotes I

comparison with classmate. |
(d)wmﬁﬁwﬁﬁmmmﬁnafﬂl
wfagiii &1 Fgan 3 =916y |
Must be proactively discouraged and promote II
I

|

competition.

7. U T TR e @ T B A g
' |

58B, Samudra Cemplex, near Hdriom Tower,

i ueb AHBLUAYBIaR et ] T e fdypfﬂ/ﬁ’ff/ﬁ%ﬁféﬁf@%{ﬂ%@%‘

......Byadjusting dxffercnl le v = - P
D. qw fda I ﬁgﬁ;ﬁ S

Ranchi Mebilg No-0631-6900056;9693166662 121

A teacher can explain hertlass:

A. fmmwwﬁwmsﬁxmmm .
By accepting and emphasizing the differences.

B. g=dl ®1 wmifas-wiegfesd y=qft &
fen-wreta wRER % w9 W T S
Using socio-cultural backaround of children as
educational-classical resources. i

c. fafima aifm Al aﬂ

ﬁufﬁa—@’?‘ sy .

By stipulating ndaldion iving stapdard i
mstrucuogg,ﬂyd?%ﬁonna N g‘h '
B |
R

w8 I

N B ey qee-ueg w it g
~|-'5ﬁma'f%1%lﬁvfmnﬁu’r

: ‘:‘:' M qﬁwﬁmmm!ﬁ%?

V‘f ':*"“S’m furniture with cotton and asking you to use the

Rnboard of ‘touch and feel’. For which class She is '

A ;
“7trving to meet needs of specific learners? °°

(a) ¥r@ 7 T A fenedt
Students unable to learn

(b) WA w9 ¥ afem Roened
Socially disadvantaged learners -

(c) 3fie formam faamef
Visually disabled students

(d) s femenm fenefi

Students with hearing impairments

T T

The best educationa! programs for talented children are:

a) 9% e &1 WRa R 3% fafay faami | =1
T ® AW T
Promoting their ccntemplation gives them the
opportunity to be busy with various ideas

(b)mmmmﬂaﬁﬁuﬁHWﬁg

Censors control their aggressive behavior

(c) ﬁ#umﬁwmmwﬁﬁuﬁa

mﬁ%ﬁqwﬁhwmmmg

J
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el il i A i L

R e

They use pifts and awands to pass onto the minimum ll According to the Nationfl Curriculum Il-rnmewn;k. \
standants ol work v mos-_"’“""'"ﬂ“- ------------ ~and boaston inltamslure. .,

(d) VeI @) g e ot welogn W LU | (0) Fifiar; wmifsrs () Wl Aw@
Emphasizes the proficiency of knowledge through | Idle socicty Active simple
recitation, (c) ufwa; wofors (@) frfera; ww@

10. W farfeewr anesh WAl w A i T WH i) ‘8: : Active society Passive simple

A teacher can explain her class: | 13. -

A, fede sofied ol gl A datia fovenedl sTEE |
W ¥ wils w0l A T wd |

. Students associated with special castes and |
communities are fail because they do not have the
qualifications.

B. fvemef} feremereil 1 aroeel oW & wake 3 it |
W fe s e T K ||
Students fail in schools becauge they are not givea |
suitable prizes for les mung, |

c. frmedl swwe o € w@ifs fagm 30 al® A |
T fren s W 3 R el gl |
Students fail because teaching is not done ina |
manner tiat lsmcmmgful (o them. ind

D. frenell aremer ¥R R e
oI ferenedl @) awaemEmat it aﬁmﬁg\
2 lkenif "3’ ™ ‘('
Students fail because the school system docs no!\ \‘\

care for the needs and rcsponﬁlblhms of C'IC|\
student.

(a) Band/ st C (b} Bahaism Du |
(©) Cand/3 D (d)-Aand/3B 1
1. a‘rﬁmnﬁqmﬁamvr‘aﬁuqﬁ%ﬁwﬁl \ : ., .
skills, then students should pat insuch activitics wherein:
mﬁ—zrvrrmwma.wuﬁa: - " ‘
I
|
|

aﬁflhc students how to examine their subjects

, R Tt = For e Freneft wwvea-womar

A ?"v‘ﬂ»’n’mmm‘é A et = ¥R fiwarsema
U e e R

Ifateacher wishes that hisstudent achieves problem-solving

(@) fg& 3 31vam@/Drill and practice
fwviﬁfenﬁﬁmm%? (b) GE, T w3 Pt
Twostudents read the sanie passage, ytulw\ hmmhm rent

Ask, argue and make decisions
meanings: Which of the following istrueabout them?

(2) wa ¥} e s @ wfont @ fafad s (c) FEFTER FEA A T

e CROR. i _ Stratigraphic working tavle with maltiple choice questions
fafan. fafial A wfam ww & | @ S

It is possible, because the different ieasons tor the |
Retrograde, cram and understand

person smﬂucnn‘ are influenced by diverse nulhml | s ) .
(U) T S SR i g e g | 15 AT T UEAT el we @ vt sremnad
Itis not possibie because the meaning of learning is l il )
not 1o be understood To know the naive concepts of children reaching the
. L8 8 i et . | classroom:
c) Hyd 7R ¢ 3 faafelal w6 38 gamw wgm Wi N . ;
© ‘ 1 SH SR (o) o @ fern vt fnerw = s el s
w1 doE oH § e @ §

It is helplu! for a teacher to plan his teaching ¢
make meaningful

Itis not possible and the students should read it again. |
(d) Hra @ il e 3 ada @ awam T
ILis pussible because tie teacher has not explained I

the passage.

e 1 Al S am W FehEe T @
12. e urget @ w, 2005?3:1;:11 arftrm | () fevs =1 B - e

Teacher’s plans and teaching are interrupted
AW wma F o, AT

* I §3B, Samudra Qomblex; ueavHariom Tower, Ranghi Mobile No, : 063 1-6900066,9693:166662 [3] ~.
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(c)mw%ﬁvaaﬁmmam%ﬂ%ml
IqH FAYR Fea |

Stresses the teacher’s freshness because it increases
his workload

(@ s @ Fret Sivm = of T w
Does not fulfill any teacher’s purpose
16. FrafafEs § @ $H-2 7@ W = yyfad w@ £
Which of the following factors influence learning?
A. foamef =1 mllﬂducing'leame’r '
B. famedt =i ‘IﬁWVMammy of the lcamer
c. fagm Eﬁﬁm/'reachmg tips ;
D. el 1 wifE IR waTEE @R
Physical and emotional health of the learner
@ Aand/3R C (b) A Band/3k C
(©) A B, Cand/ 3R D) Aand/3ikB
17. wida& RATT ¥/Meaningful learaing is
@ 3§ gEm & ffera mem

Passive intake of given informatien

() Foht s @ 9 ) e 1 whea frofor G

Active creation of knowledge structures froii
personal experiences

ﬁwamm%a‘i—wam e
Coupling and companionship between
(d) =TERT AR 3w wem mﬁuﬁt
Imitation of adults and more ca}uhl\e (;

Which of the following is M@g of: e
ofihe teacher, for lheeffecﬂy%hlﬁg‘g{ udenls?
(a) ﬁaﬁﬁqmw%" .‘ «aﬁmwl

Teuch chxldren how eycan see and improve their
learning endeavors -

o) forenferal @t Sudwmeas fafu @ Yo 9<H HTT
Pfovlidino information o the students through the
instructional way

(d) Wﬁﬁmmwwwﬁ%mé

Learn the perceptions of students whom they come
with in class

9. Foam @ fagrt @ st § Peafatea ¥ @
HH-WT FYT T 87
Which of the following statemeuts about development
principles is wrong?

I
|
|
|
|
:
a;qnnana% |
|
l
|
!
|
I
!

98B, Samtudy a( umme- near Har mm- lmw

2 '
——— —— — — — — — —— — — — — — — —

22,

o hum hi -

(a) ¥ == famma # =l A Tern @ fw it

= ¥ Aafas =g aga &t €1 -

Every child passes through development stages, but

there are lots of individual differences from children too.
(b) fame G uftoTeT ufEa ¢ fws diw-orm

A B g §

Development is a quantitative p

well-measured

(c) T ity &

that can be

Development is based

T eractiohof ......... ‘ .. MAY result
) : nd ﬁndings
ifity; Change

The school has a very small role in <oc1ahzal.on
(b) foreera AT F1 e YTT HH ?
School is the first major factor in sucialization
(c) Taerera WHIHT & HEw@qUl R 2
School is an important factor in socialization
d) TSR o foara w5t w1 g T Biat
School has no role ir socialization
i s & warTes faew & fag= & an
¥ frerferfaa wee § W8 wUR HA-AT 27
What is the correct staiement in the following
statements about tk> theory of cognitive development of

Jean Piaget?
(a) MWaﬁmmmmaﬁﬁmwfwg

No step can be left because thesc steps are stable
(b) el & GiEHE AUR & YRR T O

FH el W TeRdl 2

The order of these steps can be changed according

to the cultural basis of the children.

(c) s =1 7= ¥ 5 e fawm, =N |
T W Y e Friew g §

Mobile No. : 063 1-6900066.9693466662.{ 1]
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ment is I
Piaget argues that cognitive develop

s
continuous rather than pmzrr.ssmg in step I
e 9
(d) T 3 wgFe faem F did |

Interaction with adufts and colleagues does got \
have any effect in language development

(d) e e T 1

Tt g _ LingtIlSl!F df:velopmem transforms the nature of
Piaget hf:mpm e clarsps 0r OB | e o A @ & it @ Ww

i Py o’ # S A |t o s 8 e g

- mﬁ:; o | et & Pt 4 & 2 2
- —— ——The idea of the ‘Cq aservation® presented by Jean Piaget |— ~Lawrence Kohlherg’s-ethi -the'o.r?fhﬁ__

means that criticized for many things.

(a) Wae w fafuaq wiew J W@ Freed W which of the following s
T W T (a) Shierr 1

I

he right I

The hypothesis can be reached on the rig I
conclusion by duly testing

m)M$mgmmmﬁmWW|

AT o |
Keeping others’ landscape in mind is an important |
cognitive ability |

() T=fiET 3R T @ Hewl wgd Tyl §

"™ Conservation of wildlife and forests is very m:ponant

(d) T s o TE € A A
& 9

Some physical properties remain the same w|
extermal shapes change

w1 e wifwu: g . Y | S
According to Howard Gardner s mlll\i[phu&elhgence I
system, match the following: 7 ‘n-;”~ .

g = YER, '

Type of intelligence =
(a) TR/ Musical
(b) ‘ﬂﬁﬁl}m@mnc

. (|t)'"ﬁli’oet
(©) aﬂa‘qmﬂnmrpcrsonal(m) fRTEY The player

i V) JFR/Sculpturer
@ ® © o
@ @ o
B v i) M i)
© [ I (%) B
@m®m & o
25. 9 A S HIAR/ According to Lev Vigotsky:
(a) Wmn%w%mmm% '

Culture has very little role in linguistic development
]

(b) T2 9T 3R F wF Af @ = e § ]
Kidsleamalanguage with a strateey oilanguage acquisition ;

(c)mmnﬁﬂnmﬁmmmwﬁI
15914 5 FE 39 77 e |

I
I
|
!
I
I
@ mrﬁarlocal (W) TEfA-aRE Violnist |
I
I
|
|
I
|
I

- ® - = 4 - ve - - = v -
-8B, Sam udra Complex, neqr Hari

'IOQI_TOU'('I‘_H(rﬂ("ﬁ Aetile No: SDEFIBI00068, 9643 166662 (5]

as not given a special answer for every *
ical reasoning,.

g T W R @ty s

A fe & fag= & Rmm gl

" To reach his theoretical framework, Kohlberg
repeated the principles of Piaget.

,h,':_,i.;.“ L 21, froaforfin 3 @i srferm & amerem & s

A 2

Which of the following shows the assessment of
learning?

(@) e wrgm- Wﬁﬁnﬁaﬁmﬁmm
fofe &1 e v 2

Teacher assesses students based on the information
given in textbooks

(b) foere foret formell & fromem =1 serer gy
% frer =i gem o FTm @
The teacher assesses the performance of a student
compared to the performance of others

(c) T fomnferl &1 oo sl @ wm 35
ITAE] ITH JNAURVCHF WU 7 o ety
T 8

Teacher also assesses students® reflexive
understanding in additioa to paying attention to
cuntemplaiion processes.

(d) Toeres "HHE IR W Tl & IR w qeen
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Teachers compare and evaluate students’ ;
_ aluate students® answers | (d) el ahe eml @ | @ 9y
with ‘standard’ 'ors e ETETh] o I T A Sfgas wrn
areratga’ dard® answers | Stereotype about girls and | Ty
28. wa' Ry @ ard ¢ | . yI girls and boys .

The meaning of ‘child centered® edueation Is: | e

(a) PR SR R SvRor T 3 s ) e e I fmm_ it nfura

Privr: Profrfaa weAl @ IR 3 & fag wft v

To enable children to follow the specified information

(b) T T AR e @ R fomrar w91 am-am) B : Fugga fawew i

Instructions: Choose the right/ mos b priate option

To leam all the things in the classroom, be ahead of |
the teacher | to nnswer the following question

(c) TRTes: T STl MR N o6 e fom e iy | 31, A Tl T IR wfzatan S——
Ordering the children by teachers what needs to be done | TP TR T T o
(d) ==l W syl 3R IR IS W 2 I If the capillary dia :

Promote children’s experiences and their voice - - | the water column

20. frofefga ¥ | W wer v okt Rrar & |

aﬁﬁﬁuﬁaﬂtmﬁﬂaﬂﬁq&aﬁmmw|
FuiT AT 87 [

Which of the following statements correctly describes the I
approach of Paget and Vigotsky about language and llloughl? 32

(a):ﬁmé%‘r‘cﬁaéaﬁwﬁﬁwmﬁﬁ%

Both believe that Iangua"esbomfromchld s tighy {
() T B SRR Ted faUR T ol 2GR
st argam e 6 feram o e e i,

.A.,

According to Vigotsky, lhoughfs are’ bom at first r\\

and according to Piaget. there |s a hugc nmp'\ct on | h "i(epl in the sunlight. After some time, o see how many ice

“has melted, bnth the clothes are remov ed. Which of the

the idea of nnLuwg: . ¢ |
(d) e = 3:(3;:;1'{ Tzd ﬁma:q —(%ﬁ] T3 mf@ﬁ i fol]owmﬂ statements i correct?
o | 2) 2F Fe % A @ 9w w9 A e T E,

N R %;’” der both clot! d equall
‘ Snow laid under both clothing is melited equally

According ta P:am.l ihought |s bom at Frst ‘and TN )
A I (b)mm$am§,aﬁ%r@m‘mﬁaaw§z

accordingto Vlgotsl\v thereiis ahuge m]pacl onthe |
idea of 'language s, The ice below the white cloth is more melted

30. ﬁamwwaﬁ%ﬁquﬁrﬂmﬁmﬁ: (c)mwamﬁﬁ@wmmnﬁ,
TEE B 7O gt TE wedl 8, st | The ice below the black colored fabric has melted
Wﬁ#mmm?ﬁ@7@mw| more
mmﬂﬁwﬁ#ﬁm’ g | (d)uﬁrwuﬁmmﬁﬁtmﬁmﬁm‘@nﬁ%,
R Kl ﬁﬁﬁ-l’ﬁﬂﬁ q 71 foraant wiafafiad wTar 3? l This will depend on the medium in which the snow

Seeing lhe"mnddaughlel debating her father for going | is kept
to school, Grandma says, “Why are you notas cempliant | 33. W % T gd W T feere srrafia

as a zocd girl? You will behave like boys, who willmarry l SIRED & UTH T |_dn %, ?ﬁ_
you? t* Which of the following reflects this statement? The North Pole of a magnet is brought near a stationary

(a) T=F F fen F Te@ BEA

I
T ' ) | driver. then-
I\’IISI‘ijI.IIIﬁCEl[IOR-OFQII’J'5 gender 3 | (a) & T T T FE T TS S,
(b) T @ WEA-uem § 9fER H HETE l . .
[ It wil! try to attract the driver
| (b) T& W B WG B B H,
|
|

It will try to replicate the driver

Family difficulties in child rearing
(c) fem TAETAy/Gerder similarity

“Mobile No. 0651°6900066;9693466662 T6[ ..

.58B, Sqmﬂdra_‘Cofnplex,'ne.?ap:ﬁ&:-i(inroum’, Ranchi
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() NETH W fl wae o A L ;
None of the drivers will be affected |
(d) W w3l yy W el w2, |
The driver himself will repel the North Pole |
4 TEleT @ wwa g ffer o 9T @ {O W |
TER ¥ arw P @ wwr ffet @ age @ :
Wt T W e e ¥, 7 el |
R e @ wftomm #7
Even before esunrise, the sun appears on the horizon sometime | 39,
before and even after re: rching thehorizon, it is visible for some
time. Which of'the following is the result of the following? '
{a) faatwydenection (b) mﬁﬁ‘("lllntcrfcuncu !
() A H/diftrmction (d) feradH/Refraction |
35. 3oy v P (Molar Gas Constant) T T |
Tl el & fore e gar &, wifr WWH @ 9iR I
T TR i e o ¥ W a2 |

Tie valuz of the molecular gas determinant is the same |
for the gases, because the same heat and pressure is |
cqual in the same volume of all the guns - |

(@) TS T WBANumber of molecules
Ib) st e Tﬁﬁ/z\vemge kmulc energy

NP
\*‘“ ey
g w,‘

(d) ¥ &/Density
36. mamﬁv%mmmﬁm
Tft et 2- "2
The inner energy of one gram of un idt.nI g.is Ut.pt.llu\-
(a) Had @ Tlonly on | pressure.
(b) e Tw ‘T{/only on]u.\l L
(c HAT I rII/onIv on vol'lme /
) T 3R el ?«’ﬁ’t o bolh pusqun, and heat
3r. wmmwﬁm m‘ramﬁwﬁaﬁ
T T, T YA B daet ut e THTH
AT WET 3'1'& fm FE A

I
I
I
|
I
I
I
K
I
I
A \\orkman W ho is spreadlm, his arms, sitting on ¢ :
I
I
I
I
|
I
|
:
I
|
I
I

y Aroaslmﬂ :ahle suddully sIows his arms down -
(8) ®Ivig o 9 7 W &
: " Anguld. \nlocuy decreases

(b) IVH S 3l wE W R,
Its i mcrua decreases dr astically

() Fvita-an feer e g,
Angular-velocity remains constant

(0) ST 3l =15 Sty 2,
Increases in the inertial horizon

8. Feifertea ¥ ¥ @7 wifm ¢

Which of the following is not well matched

44,

38B, Samudra -Comp lex,

40,

N

45,

-neer Hariom Tower, Runchi Mobile No. : 0651:6900066,96 33166 662"

(@) w1y frane ¢ I . y
Animal Science ' Aristotle - i
©) Tl fgm  fn 4
Botany Theophrastus I.
(c) ufife wder ehfrm
Classics Carolus Linnacus
@) fimm agfy :

Binomial method

e R & m’- ’

(@) “I‘T‘l“l/pmphmo ’
(c) A3/ Anap Kag
T @ :; ik

A plagthin which L
w,t..ﬂ iy \
are no Tlgwe dScc J\‘ nwha

(a) VergiAThal

P

i will lhcy describe?
I’g ?III?I‘IWISEI/Bryophyth

- (b)  |TRIEH/Outer part
d = EI?I/Pushpd Vantant
ﬁwm%mftﬁmqﬁm@%mm
W Trferhae A o 7 9t vate e suer
gt s

Thie tadpole is increasing in the waier of the pond, which of the
following elements should be of suficient quantity available?

(a) &IW/O\yLLn (b) S Viodine
(c) mmmllm&,c"l (d) FMR/Chlorine

a’rwﬁamﬁmamarnarﬁmmﬁ%%
3% FA-| I TG wr?

Those who eat more food with Ascorbic acid, which

discase do not they have?

(@) Radz@mickes (o) JemPelingra

(©) anlgcmvyw (d) - ?Iﬁ/lkny -Berry
ﬁwﬁﬁuwﬁ%amaﬁﬁqmﬁmﬁ:
TIHIOT TEd &2

Which of the following are the same types of atoms in
molecules?

(a) Hefs/oxygen (b) =lAwater

(c) TTET STIIRITE/Carbor: Dioxide

() HEH STESTTES/Sulfur dioxide

T O1g @0 | a7 EEgraeiiG 3t & fr
A W WTTEE & A9 T T frae: 3, Ry

17]"
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T & et &yl Y o <t @ e g |
g S #1 9% 91 w@ur g

In the process of dilution of dilute hydrochloric acid ina
metal salts, When the water of lime is flown in the water,
the lime water becomes milk. The metal salts be

(a) urg HTae/Meial carbonate

{b) HIg TG/ Metal Sulfate

(c) u1q ?TS%Z’mem' nitrate

46. IR 3E AW WA Ppar wmr 4
Plaster of Paris is obtained-
(a) 509 H/From gypsum
(b) A Whomlimie  (c) T9F W/from salt
(d) T W/from Sulfur

47. wEA B wEA Nftrw dfirw ¥ w=iffE

Carbon is very additive because

[

|

I

I

|

|

:
(d) 9T FARTES/metal chloride |
T
|

|
|
I

|

|

|

(a) Wwwémmm-mmm%'

This is a non-metal and its co-connectivity is four |

(b) TF GEEST Ty T ¥
' It creates covalent btids
(c) T8H Hm@etiao uq‘%r sifu ?
There is more 1endency of Relinquishmen*-4gs
(d) To ik SaerieT & 3R TIeH T e
In this the compounds are flammabl€'and the me Itin \
point and boiling puint is Iowf;

48. UL JeT wRETORa W 3

The magnetic field genct

-

and atoms is the n;asbn

45,

(@ Nmﬁrm/Ammmia
: (b) ai'ﬁf" WdTME/Carbon Dioxide
h /Nitrogen (d) STfFESH/Oxygen
50. tﬁ?ﬁﬁﬂ foer & ¥ forren e &
polythme is the polymer of the following
(@) TfeIfFi/ethelene  (b) WoH/ethene
(c) HiF/Methane (d) TEATVAcitiline
51, Yty it et a R = it ol & A

CFC is not recommended in refrigerator because
() 9 ATTHE W B/they increase temperature

52.

e R 7 T SR

{b) 4 A9H H FH FA %'/they reduce ozone .
(c) A vatEw | wifad @ & -
they effect environment .
(d) 3 WA TR F awfaE @ €
they effect human body l
= a1 |l wr W sne qut

Acid rain is caused due to which g;

(b) THMiver T
@ TRikidney

() U’If%fqﬁ 1 IT=/treatment of polio

~(B) wifer A v gAE H A

<top paralytic effect of polio
(c) qifedl 1 U 373c/complete eradication of polio
(d) S'Q'Q,EF-I [Hl/All of the above
o WA W U fagr diem @ s fen
T AU IR AT Ryd @ 82
Which of the following objectives of learning science at
the upper primary level is not a desirable objective?
(a) Sk TerEn 3 FT Eam scientific litecy
(b) difenss T fasRfaa FT/Develop logical thinking
(c) 3avTs Wfwan wivret ifsha ww

Eain necessary procsss skills
(d) wfFt ghenst o arem wela wEV

Perform well in competitive examinations
“Torem @ AW AfuTg } Aot & R WA A
2 ot qui e
“Education means my development of child’s mind and soul.”
(a) @ fSAHT< H1/Swami Vivekananda’s
(b) HETHT e} FT/Mahatma Ganchi's
(c) i+ gl &l/John Duvy's
(d) W ST SH1/Prof. Bagley

.- 38B; Samudra ('(;rrij)lc’: Tnear H_uf'llf-l’”. Touwer, h’a_nf'h;' Mabile No. : 063 1-;i.‘?(l_.(l()b‘_(i.fl(f&l:}_m(i({ﬁ;f [5]
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(aoeb i, stiidspiarnctngy /. L.
58. forwr ¥ viagfores sy o et 3 &

ursion in science

| \
64. Leta= 2‘\[5 3—~J§ 4_\/Gthenwchavo:‘ \

i

|

: I I I

I mﬁ;a=—2_ﬁ+——3_ﬁ+74_ Istﬁ\-:
(©) T & firg e ov{wA WA FC I @ a<18but g9 () a>18

|

|

|

|

|

is the basic purpose of academic €x¢
(a) @9 wrEs ¥ Enhancing team spirit

(b) WHTSHiEIor ) W@ AA/Promoting socialization
Provide direct expericnce for children © a=18 @ acs
. /
N ugeiiiamat, : 2435 3 \
Developing children’s energy - | 65.__The value of ) \ -

59, | Pretifee ¥ R forw wre ¥ vt wmr Frew
mﬁn&mﬂaﬁrwﬁ:mmﬁamt’
“In which of the following lesson, the first general ruies |
are clarified and after which are given exampls”
{a) FrmrTeTE 9 Deductive text
(b) HPTHARHS UT3/inductive text
(C) W TS/ Cognitive text
(d) FITl TR/Skiil teat .
60. mtﬁtﬁaﬂﬁﬁr’lmmmﬁm
W 2 , —
Which other name is I-mown as the method of sclf leam
(a) TEwI-99uM {&aft/Problem Solving Met
(b) 3w faftyExploration method / .
(c) @& fafiwsports Law

(d) =rE[ fait/lecture method . %

61.  Ifasix digit number is formed bv :‘.’:.pe.a{lnt"ﬂ two digit | 1
number three times (e.g. 141414); ﬂ‘icnthutqumber will "
be divisible by : ¥

(243)3 3%

K
@ 1
© 3

I
I
I
| 66.
I
I
l

| ey ﬁumb_ﬁ_]%ﬁ
|

mﬁﬁmaﬂr’wt (ﬁr\141414) zm#tam a+ab+b?

& AR 7 H?

a*—ab+b?

(a) 1001 (b) 101 (C) 10(101 ﬂ @)10101 3 a

62. The dlfferenoe' 76 a -:-7";', (a) 1 (b) 3
5.76 it 53 S fe #7 3 5

ey () 3 ) 3

|
|
|
|
N I
a) 254 (b) 3 73U e)3 Ir T I
254 ( ‘) 3TNk 46 (9343 | €8.  In an examination in which full marks were 500.
R ( 111 ] I A got 25% mora than C, C got 20% less than D. If
63. If p* =3 = 67 th‘on —+—+ ~ |isequalto: | A got 360 marks. What percentage of full marks
Ny vy z) [ was obtained by D?
[
|
I
|
|
|
l
I
|
|

Teh witem o Stfireraw 3fa 500 §, A C W 25%

aﬁ2'=3-'=6*-%a’r(~+l|+l]m Afueh 3fe Wd g1 ¥ A C W DI 20% W

Y 3ich UTE Bd ¥ afg A 360 3w W AN £ A
T)WTE? D! 3tfuraran 3w o fwaw wfaea wra gam?
Ve b) 1 @) 7% ) 0%
© > @ -1 © 5% @ e

2 ) 69. The cost price : selling price of an article is a :

b. If b is 200% of a then the percentage of profit
on cost price is:

s @h_p‘,_.‘-iumgzdru'f'{m:p_lm-,_nwu'H(l}‘!:(urt Tower

Ranchi. Mobile No.: 0651-6900066,9693 166562 [9] -
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70,

71.

73.

74.

75.

meb SRt dynlatet et 777 7 G 6;@

of a chord from the centre of the circle be o
. then the length of the chord is: @’ e

T Samudr,a Comple.\, near'Hanom Towet,Ranclu Mobile No_:

nmm%mmﬁ.q.mma-bau <

¥ - ’
"fa;r_}f’wm"“ &, “*memml J5+J11+19+\I29+s/ﬁis! .
EULGEE Y el ) '
(W 75% (b) 1259, I :; 3 e %&.)) 2 :
© 100% @ 200% | o4 @ 6

A tradesman sold an article at 3 loss of 20%. If

1
the selling price had been incraascd by Rs.100, | 76. In two days A, Band C together cg finish — of
there would have been a gain of 5%. The cost | ”

price of the article (in Rs. ) was:

a work and in another 2 days E together

|
T AU T a 20% & W Aumr i — 3-- — g G -
g, 100%. =T far s §, W@ sy ey ;,:? : can finish T part of th can
A AR W FATET T W
(@ 400 @ 500

I
|
I
Find the greatest number of five digits which | !
when divided by 3, 5,8, 12 leaves 2 as remainder. :
"

I

i

I

maawﬁaﬁarﬁ:mmma:}m3 5,
8, 12 } W T W 2 91w awrer
(a) 99999 (b) 99948

(c) 99962 () 99722
The diameter of a circle iz 10cm. If the dustance

“ (@ 14days
A't-ala passesitwo bridges of length 500m and
i Zso%ﬁcmds and 60 seconds respectively.

% Thel of the train is:
e, e TGS S00HIET 3T 200%eT w2 T W
“ e 100 FAUE 3T 60 AdUE F UR W AT 21
b XeE g e 37 -
" @ 125m ) 250m

(©) 120m @ 152m

In a cricket match there are three types of tickets
say A, B and C each costing Rs.1000, Rs.500 and
Rs.200 respectively The ratio of three ticket sold

of category A, B and C is 3 : 2 : 5. If the total
collection frem selling the tickets is Rs.2.5 crores.

T g & ST 10 [, %lﬂ%gﬁ%zﬁ—
far =5 g 4 A, §, ?ﬁﬁmﬁa@iﬁmﬁ
@ 5cm ® Bemg )

(@ 4cm @ 3cmii,, -
The average marks of 32 boys ofsectlonA of class |
X is 60 whereas the average marks of 40 boys of |
section B of Class X is. 33. The average marks
both the sections comb-ned together is:
HT 10 & T A 32 LEc D) aﬂmaowaﬁ |
B& 40 Urs&?sr aﬂm 33 &1 2T &
airaa T 7 LN

(2 44 N (b) 45 Find the total number of tickets sold?
e N Torehe 7o ¥ A, B oI C Wit =it Tt =0 @
e 46_; g rd) 45_ TRHYT: §.1000, F.500 3{T .200 §1 A, BT C

Sroft # fardh feerel ot o 3 ¢ 2 : s $1 T
femet =it faat & o agett 2.5 TR 1w A
Te fewel | WEw 7| w1

(a) 5000 (b) 4800

I

I

I

I

I

|

(1 | 1 _ | 1 J |

LI & +—-+— :

3557 19 911 11.13 13.15 I

I
| () 50000 (@ 52000

I

|

I

I

I

I

I

I

is _equa. to/ & AT 22

79. The sum of 1/5th of the number and 25% of
another number is equal to 40% of the first
number. What is the ratio of the first numberand
the second number?

Teh Y& & 1/5 1 3 T K& & 25% &0
M UREl WO & 40% @ SE §1 Ugel wEw
ST GETTHEAT ¥ 3TUE 511 ?

(b)

[ o glm

(d)

The simplified value of

—
w

06‘01-690006‘6‘ 9693;1666691101 -
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T, Wﬂ@ M

7 7 /7/////1///’/ //////,
(et whswataaspipmeLns,. '
(@ 4:3 M 5:2 |
© 5:4 @ 6:5 om’andl
80. A rectangular carpet has an area of 12

length of its l 87.

t witzc 3T |

a perimeter of 46 metre. The
diagonal is:

T U S @ face 120

hich tzaching method is related to using the rules
mentioned in the examples and using them?

T T FSeETen ¥ wan oh'r ERcal
e w5 ferm foreror fafy @ aafud
@ 7 f&fa/Deduction Method |

. I P ' 7 ‘mllqiilq
@ 17m (0 21m | Vet gy @ foy g i
81 (;:)h13 o | (df)the heightand the area | TG-Sy YT i g
— 81— lfthe numerical value o the , . )
of an equilateral triangle be same, then : (@) nfei = 'qT"n/-,trm ’ o,
length of each side of the triangle Is: b) forg 1 (zfz /
Feredy wvaTg = Sarg qdr aiaﬁmi Il o l (0) ﬁﬂ'ﬂm/ countj
Stifers wr war $) ﬁ‘{{a LA U | @ %ﬂl?ﬁ v t unter)
(@ 2 units (b) 4 “”'Es | 88. ! carnesydGsintpgducing the
(c) 5 units (d) 8units ds 175
82. Atrainis 250m long. lfthetramtakesSOUS‘:iO" q : HHT it zad: Al
" to cross a tree by the railway line, then pee ¥ire o sumord
of the train in kmvhr is: - SvH
T Yot 250 wiee awlt §1 afy ag o e l @ o, ,
IR R W 50 ARUE ol & A7 IqHT | i H/Nets of 3d colids
BT gy X > A1
S L e et fereht g €2 e e el - .
(@ 9 b 5 o . 7 IS/ Floor of blackboard ’
© 18 @ 10 LN Fﬁm d‘gjt of fractions, the teacher asked the
€3. If (2, 0) is a solution of the linear 9(]U3tt studenb*tgmakcahct ofany of the five rmctmns frnm
- 2x+ 3y =K, then the value of K is: it. This questions indicate
aﬁ%ﬁamwﬁaﬂwz:w?ny KWW(?- 0)3‘-{ . .k‘ﬁr.r =t 378 W e J o B fndf e fasi
‘rKErmaHFs"n | S ._4;_’a&qﬁmmﬁwm|mmmm%—-;
B Ea)) 5 . I “@ T F I3 T F/High levels of thinking
84. - | (b) faeATIEHTE B F1/The analysis of the thought
" g I (C) Ia:‘qqﬁl;ﬂ/a |3||'\”| 3 HFI ZF-]/
Iliﬂcn" THRTUT 0= ] Three-dimensional/celcsliallhinking
fag @ W,g? | @ |FF % 99 T FLow Jevels of thinking
(ﬂ | 90. The purpose of diagnostic testing in mathematics is
D -~ - Y
@ == . P, | it # i Tiaer @ Iiva &
\2 iS¢ S X ‘:':,,_ “'-'_- .. ~ e ) - b
By % Uh | (@) @=a1 %1 w9z 7 ffeq fifsdi = sm
(c)‘,; (1 f]_) : \.5':--\d) (-3 EJ I Know the hidden vacancies in the understanding of
TN 1 chiidren
85. Theprm(:lpl"ofarlthmemtcachmg method is: | (b wfqumEe 5 whie (‘?ﬁ?&iﬁ) e
3 ﬁ ﬁ ﬁ ﬁ 7_ ~ :
i “H 3-& T et i Provide Feedback to Parents
- @ 3’!3!?[ b wigq T&ﬂ Y From unknown to unkno: Wi | (© g T = THVFilling ihe progress sheet
((YREEIG ﬁ EHH F1 Aunknown to the known | () TrT THer % o w373 F A= T
@7 Sl 1 S fiom general to specific | Planning a Questior Paper for the Seasonal Examination
)] ﬁﬁ’l‘ﬁ’ T g Fi W/ Specific to general l
86. W I

- - 58B, 'Shrﬁud}‘q:&.u;zp_le}c,‘

near Hariopi Tower, Rarrchi  Mypbile No:: 0651-

() = faftazinduction Method
(c) weeram fafb/Synthesis muhud’
W) favergm fafiAnalysis method o
Which of the following behavior-skills tools are rcqulrc«i ‘
for the increase of geometrical concepls of ‘symmetry

and ‘rtmclmn’ in Classroom IV ?

6900066,9693466662 [11] -
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iely vt stdSplaiet et /77,

CiR mml yplnrwl.mrwhi@xmui! com’ ]
il | T <) b W - YRR W i et fgan gy
R SE R P | In Western education, more emphasis was placed _
frdor: Freafelad wedt & | on textbooks rather than life's experiences and
ERPCH faaea g ® ﬁ%ﬁquﬁ I practical knowledge,
Ch ' (b) 3fN fren A v it ferer W anden wifes
. - the right/ "‘°"=\nnmnrmeopnon | A W arfiw W
to answer the fellowing questions. |

Wﬁt wfgen frem Az : English education gave more epiphasis on oinl
ﬁ (.
* firt oft 32 ‘ﬂﬁgﬁrﬁﬁ =, T{ﬁ | knowledge rather than reading _‘\. iu

i w4 v, vt W | it F D o R
— " Ramabai,whowasa warrior of women’s cducation ri neverwent | Wnaa-'.‘ 3 "‘Zﬁa nA T

,,,,,,

toschool How c\er.he was given the titl of “‘Pandita’ because: |
(a) A T VeI~ Feveen SR of, N @ wgg we |
S o, R ST T A el 1 o |

SR S R |

They knew how to read and writc Sanskrit, which |
was a great achievement, because in their time women |

were not allowed to acquire knowledge in this way. | h N CRRGHD
(b) ST e foren ) s 33 % g 2 g | 34 RS ™ mﬁ‘"‘."% A
geriia ¥ usw frvm wenfoq i | g2 W ~ ,mnﬁﬂﬁ Hesd

They established a mission in Khedagaon near Pu
to promote women’s education.

(c) 3= e 3 fav=el siw = wfemm

‘%ﬂ lhe rebellion of 1857. consider the
%:mcnls in relation to the changes in

rative policies of the British Goverament:
A. fgﬁmmﬂ lsssﬂmmwuﬁam
AN $w 3fewm wEAl w Wit Ifuwr fafew
e & Tl A A o

: he British Parliament passed a new law in 1858 and
the East India handed over all the rights of the
company to the British Empire.

. g% 9 T T & 8T o ard foatad @

U gl WG qu i fawfEai @ g
32. w9 fEm W
| It was decided that ihe proportion of Indian soldiers
"I"'?'T Wﬂg ETPF BiTT Iaht 7!?{[, 7% aﬁ ERC AT | should be increased in the army and the number of
_W EET Wﬂ%‘ =|3'f “IFIT ?T'Q"Tﬂ | European soldiers should be reduced.
++n 1856 who amonoihe rollm.mg governor generals I wEl faweq = ﬂﬁQ/Select the correct option
had decided th;}»t Ba:lndur Shah Zafar would be the Iast l (a) AT %’ B Ot %/A is wrong, B is right
_«Mugha! empernr and after his death, nonc of his | N -

(L) A 3 B 21 & /Both A and B are correct
() A 3R B A T %/Bolh Aand B are wrong
d) AE 'E-' BT B/A is correct, B is wrong

|

|

| s
35, o e e e = o i | % Koduiid i
ferfafas ot & & w-w wow @ §7 |
|
|
|
l
|

Vdé_sc_evn'danls_ would be considered a king?
(@) SoRTS /Dalhousie ( ) Ty lastings
(c) HFRTPY Comw: allis Eﬁm/CannmE

Which of the following was a naticnalist leader of *Salt
. . - . . 4
In relation to Gandhian ideas on colonial education, ! Satyagraha® in South India?
which of the following statements is wroung?

(@) ‘ﬂﬁ‘? 5 %/Potti Stiramulu
(b) WTH THI/Mahatma Gandhi
(a) U=l Ren § Sfam F e o SEEIRE | k

(c) H. TSMITEER/C. Rajagopalachari

(d) FER TeeI9TE Y/ Sardar Vallabh Bhai Patel

.- 38B; Samudra COmplé;x,—neal Har wm.Towet 'Raucht Mo'blle No.% 0651-‘6‘900066‘ 9693466‘66‘. [1"] -
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b) =R (9Eae ) /muslin; (malmal)

@z fretataa 8 @ st

In the following choose the right attribuie of cultivation

B 7 Tk
(et i A BRI . . o T onehis
36. Ww&ﬁmwwﬁfﬁﬁﬁ} ﬁwwma@%lﬁﬁﬁf@”“mg} \
Freafataw & @ fe wufda fmar? | S o g e g e oA
To whom did Jyotirae Phule dedicate his book | A teacher feels that the load of the subject at the upper
‘Ghulamgiri*? l primary stage is very high. Suggest the best approach to
(@) 39 Afed aﬁ, B W el -Eﬁﬁ feem | the following, which will solve this prable.m.
@ A st Teqg 4 wm e } (@) TR Iy B edl-wedl 9g <
The Americans who participated in the American Read all the courses quickly. s
Civil War to liberate the slaves | _ O poil ﬁ-rwa'{:jq ﬁﬁ?ﬁﬁ ﬁ '. G
T ) I el foreR i ol T 33
el o wm ferm ) |
Women who participated in the Woinen’s Franchise |
wiuvement in Brilain |
(c) 7 v A w1 < foeira forgg A TR MR A |
Those Indian soldiers who were killed in World War | |
(d) 37 wreal =, forel) wReira wnsdtn wm o |
am femn |
Those Indians, who participated in Indian freedom }
struggle
37. Wﬁmwﬁf%mﬁﬁm”qa’fl
wY W faew S
Consider the iwo statements given in respec(lOlh &%\r ade to reach the mineral deposits
Courts in India: 5 ; m&'f?deplh This type of mining is called:
A. I3 I T TERI & awr?a I ¥ 3?11 g /Kupakiminirg
ITH AW = F@ 5 s ':\,‘3' (b) T VInsertior: (c) 3TET/Excavation
High courts come under state gbvémmems andwork | “25@ ferege W”G“"d‘“gm'"mg
on behalf of them. g |41"'mﬁw“ﬁm‘ﬁﬁmﬁm'€
B. 39 T&cd & 11"*11 m.ﬁ 3;3( ﬁﬂm Ei F : The uranium found in Ladakh is anexample of;
q=A e e o= 4 ﬁ“ﬂﬂ*ﬁqﬁﬁiﬁ aﬁ En| 'G’ﬂ?ﬁ 2l | (@ ?1!.‘1?{1'6’1 W‘ﬂ <hl/Potential resources
93T fasey ﬂ ﬂ‘ﬁit{l ey l {b) SSR THIYT F/Stores resources
AllthEJudges oflhellmh Counsare appointed after | (c) &M §oem hI/Denository resources
dlscussmns w:Lh the Chlef Mmlsler oflhe state. | (d) sr<fas gaim l/Real resource
(@) AT 2, BIRE/ A is wrong, B isright :42. ™ T W T A WA AW o B
(b) AHR’ B3 Wﬂ B/Both ; Aand B are correct | TRTEET '
{c) A ﬁ’( B'c:F-I1 Terd %‘/Bmh Aand B are wrong | Hot water fountains are formed as a result of thermal
(d) ATE B 3 B"I?I? A s correct, B is wrong | crergy received from..........
38.  Frevfafan vl § @t v S & am R | () S H/Tidal energy
?rr—ﬁ 7]'5‘, = 'q‘ﬁfm;ﬁ a A qﬁq o MG 7 : (b) A A F/Wind cnergy
In the follmung, items, which item was known as ‘Caliks’, | (c) T'T(ﬂq W/Gemhennal encray
which'were taken frem Portuguese India to Furope? | (d) HR Fl/Solar energy
a) W?‘I@/Coﬂondolh [ 42, ¥an 7 v=fad tow o & wdt faver @
!
|
|

( ) ®ZH A (W TSH)/Retail (Peace Goods)

{d) WER/Spices |

3. TH ek v e § o vs e e w |
|
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There is less yicld per acre |

(b) T SRR S 6 Hf 2, -«hfam»wwz:
Eﬁﬁmﬂﬁﬂl |

It is a commercial type of agriculture, which is done |
on cxtended areas. |

(c) T8 WRICH H{ F i e v el @ |
fore a1 R wRar & wa @m wa ) :
In this type of farming, the farmer is engaged with |
" his whole family to make intensive use of the land. |
() I8 FY TA-3Ne < R -y Wil I
A A S 1
This is done in the semi-arid regions of the mid-latitude
. 44, T IR ¥id e 6 whon waifs suer |
T & favie @ Freafafas 8 ¥ few s |
FhYT W W 27

Whichof the following cities has always enjoyed the special

benefits of having middle and top management taleni?
(@) SuglTE/Chandigarh(b) 'ﬁfﬁ/l(ochl
(c) %Tl?j'{& gﬁ""?ﬁI)IBengaluru (Bangalore)
(@ YOVPune

45, g @ ‘faurfrer’ sin A afwg ¥

The state’s ‘legislature’ organ means:

(a)wﬁaﬁgmﬁafﬁagﬁfﬁfq

mﬁawa}m&ﬁw
Judge ol'the Supreme Couﬁ )
46. Wﬁm%wﬁm%ﬁawm%aﬁl

¥ froforan wadt H § F-A weE WG A7 |

) W'llch ufthﬂfollo“ ing statemtnle about the redressal |

of the case is correc. as per the Foreclosure Act? |

(@ u&wwﬁﬁéamﬁmmﬂn el wIferd |
o T mﬁmﬁ-wnaﬁww'“
I XA E |
The first informaticn report is not filed. Only |
petitions have to be filed in the concerned court on |
behalf of the affected party. l

(o) T G e B ) o e o e g |

a5 Yo & TH W G RiE 5 0 S 2 :

The matter s first recorded in the court and afier this, |

" | 47.

" _38B; Samtdra Complex, neqr Hariom Tower, Ranchi _Mobile N6, 70651-6900066,9693465662. [17} - -
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the first information réport is lodged with the polige.
() TR TEE Y H U wem gE fudl <@l
Fué St ¢ 3 gEH IR haw yfad 9
iR A waa =rer § afee S HE g 2

Firstly, the first information report is lodged with !
the police and after this, only pclilion on the part of

Firstly, the first in o
the pelice and

: '«‘" g crime, which

""" the accused is guilty, then he can file a first

information report in the court.

(c) Yfera-fevraa o U M geRaern @qm i e

A & e T & B9 1 FRHE T 8

Police can use confessions given in confidentiality

as evidence against police accused.

(d) Far= =maEE & fam-fRv gem /1 &= =
ZRA fFht &1 WA @ WA @ et "
Frwfa =81 <1 F
The guidelines of the Supreme Court do not allow
the police to harass or beat or shoot anyone during
the investication.

Hiftes erfierl & fawa o frafafas o wu

o fa=mr ﬁ'ﬁrﬂ{:

Regarding the fundamental rights, consider the

following two statements:

A. YA % Gfaym § R mu gt diee SR

T | A gl

All fundamental rights given in the Constitution of

India are binding in the court.
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B. wvmrﬁfmammnmfwﬁﬁ‘f"FF:
AR N AR G fag arpfa wwA w@ Al
& W § fn P wr @ e g e
T Frety et
The right against exploitation allows the citizen to
80 to a higher level court if he understands that the

decision given by the lower court is unjust.

T frwe w MW Select the correct option
(8) ATera }, 8w #/ A is wrong; B isright ~
(b) A3tz g A T 2/Both A and B are correct
(©) A3 BRI AT R/Both A and B are wrong
(@) AR 2, Brom /A is correct, B is wrong
PR W W, 49 ¥ 51): AR Ry g st #2
T S o R W @ I A
Instructions (Q. no. 49 to 51): Read the quotation below |

and answer the questions based on it.

|
|
|
|
|
-
|
I
|
I
I
|

Hu facaera wa # dfed whie A o 81 9% |

Uﬁmﬁ?wﬁuﬁaﬂmﬁsﬁmm”

fagafifai =t g @ gt @ s

The class of Ranjan, who use the wheelchair, :si_dn"%e
third floor of the school buiiding. He looks forwa
assistant every day, who raises him and moves through
the crowd of students. fwi

ﬂnﬁuwﬁma}maﬁéﬁ '3 "av—vﬁﬁ &l 8?7
Which article of Indian Conslltutioms bem,'vnolated
(a) A =" 25/Article 25 ' %

(b) TR 370/Article 370,

49,

50.

Theschool is n,. pursumg w Inch provision of disability
law, 1995" 1 '

(@) mw«mﬁmmmm ol T TR T

Scenre accessto public places and buildi ings with ramps

(b) faamafaadrmfaqgwuma@wﬁaﬁm
Mainstream Combined Education for Disabled Persons

(c) szﬁf“aﬂiﬁﬁ—lqmqsﬁ'{mam
Schemes and pro;_.rams for informal education

(d) faFam =fsmi o foa & afusw
Education of disabled persons

*ﬁﬁaﬁmaﬂ’qﬂyﬁmﬁm?ﬁﬁqﬁaﬁfml
mm%mmﬁwﬁfaaﬁﬁaﬁw—mmml

51.

98B, -S.Zn%gudm Contplex,

| 52,
TEAR Tt (o) w1 s w0 A A ) -

newr Hariom Towe:,Ranchl Mobile No.: 0631-6960066,9693466652 [15] s

53.

TR ufiw 3w z’ﬂ"" \
Which of the following activities would be most suitable wnh
the students for the development of sympathy towards Ranjan?
(@) T vfiehi-frafe Tfeam 1 s HE forag
fermnef <ferste 4 @ v T 91 o A R
Organizing a role-playing drama, that allows students

to be taken to the wheelchair.

%
*

SO 1 TSR s
Btizaton of famous people. -
To establish causal relationships and conclusions
') T fofg 29y To make pricing decisions

" (d) Al e . SENT HT

Highlighting popular events

AT T UB F e’ ﬁwmwglma
o ¥ I’ we =9 & Wi TG qT Her T
. EE {1 (T VI, TR ove I, mmzs)u
s e & e @ @ T Twow
Tereme-forwst ot W awent e Rers o T2
You areteaching ‘Chola’ topic in the ‘New State’ lesson. At
the end of the lesson, information has been given on the

Tang Dynasty of China in the ¢ anyatra’section. (Class VI{
our past I1, page number 28). Being gasocialscience teacher.

what willbe your educational idea when discussing this?

(a) ferenfeli =1 fava sfema § wfife 52
Introducing students to world history.

(b) famfedal =1 I=e 9l ® Wi wEE @
Make students aware of interesting facts.

() faefeidl & =M % slm W Fewn w5 W=
SIHT YA vl

Provide stucznts an opportunity to visualize China’s past.

) fafi= warst | Ufeifess o =5t qem =)
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Comparing historical development in different societies. |

54, m%@ﬁt%mﬁmﬁmaﬁmiﬁ-@ |
o QATE H ST O § vt wed wgaa

yfufrar i |

You sce that the teachings in the class of social science show :

some prejudices. Choose your most appropriate response

(a) Torenfefal %1 Weq FEM/will punish the students, |

(b) @ @ IEE R W N ém I

. will close the chapter being taught, 7-~_i.. 0
(c)mlﬁﬁmﬁréemw@qﬁﬂﬂl
SrSA FEM| '~
- mllmnzeadsummmﬂmdmmmofsoqalrmmy I
(d) § feufordl w em & $m |

Will not give attention to these remarks. I

55. wrwan 3R TewifrE aw wr @ fag R |
el A, B3R C # | TR Iugem Iurt @ giw; |
< For the best way to teach social and political life, choose I

the most appropriate step from A, Band C:

=L ';»,.g*A =fe AT/ Individual study
B. RWSI{/Definitions
C. ¥ GIfiri#Visual content

(@) Aand/ 3K C (b) B and/:ﬂh C
) ABand/3RC (d) A and/ @R
56. UISTd WYAl &l mﬁ wgaaL

F1 geTa@ FE -
Facilitaring teaq_hers m, ‘
for students

(b) qﬂmaﬁﬁqmw

ﬁaﬂmﬁwtrw

To enable sidents understanding learned and to

do it m,t_heu own words
57. Wad ST WU WediRA @ ITET, Ak A
Frefafas ¥ & F-w Rya wa swgea §2
According to the continucus and overall evaluation,
which of the following is most appropriate in estimation”
(@) fomnfefi &5t qom e s Y& Tawifm &=
Comparing students to rank them
) Toenferi 1 i 9 M@ FON

€1.

- - .ib’.B, Sfrfn wdra Com 1)-[(7_1',.n'p(1 r Harigm Torwer, Ranchi Mobile No..: 0651-6900066, 9¢

Motivating students By giving marks .

(c) farenfefai = s RN & fag weefeq w0 -
Encourage students to answer

() formareg = i o Rrenfiiell < SRR Tdew w7
Examine students’ retrograde test about the subject matter.

e anwa frg T g

History will be helpful to you:

In understandl!

(mﬁm)mm

¥its to do an action plan (project) based on
.’ rces on ‘Partition of India’. Which of the

(o)) W?JT@/Biographies

(c) TUTER-T3I &1 QUCRENTVArchives of newspapers
{d) Hifes 3f@18/Oral history

= wafiew w W, Feafafes § @ fee fawa
= At fagm o afivea @ fawar mr 872
At the upper primary stage, which of the following topics
has not been included in the social sciences?

(@ T‘ﬂWGeography b) sfaRm™/History

(c) HAEIEH/Psychology

(d) TSHifd-TaaM/Political Science

va fafim Wt § @ o @ afem
fafodl w ¢ aviw faar s €, 7@ amfow
fasm & foreren it s faganfdal &) vierfea
T & FEE A wiee e e A

When a person is given a description on the situations
of two persons living in different contexts, then the social
science teacher should try to encourage his students, so

that they are:
(@) 3T W ¥ TG GEA H TV H

Test the information presented through them

93166662 [186)
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Giav it iiiamian e

(0) T} aneel WA F TEAA
Identify the ideal character among them

I
I
I
(©) ¥ fani/fein fask }
I

Do cast / class / gender differences in them. -q,-t-l
(@) ¥6 v @ e @ d e e 2l

ters 0
Make valuable decisions about the charac |
that description.

Which of the following/ubject matter can be I‘est 7
displayed by the pie diagram? ' 4
(a) Wt & o1 fahT8/The development of sea waves |
(b) I %1 fael/Distribution of temperature

(c) arg=mE 1 famior/Distribution of air pressure

(d) St %1 faaolDistribution of geservoirs

T VIT R W qelt @ kv

I
¥ @
62. mmwﬁ:aamur,ﬁvrﬁiﬁﬂm %7!
W e WA fRr T d qu e e |
At the upper primary level, which of the following :
statements best describes the social science?

(a)ﬂgmmﬁmﬁ?@imw#mI

ELCiuile il |5'-’-

t is not useful to get real life and employment. |

© T 1R qel @ v 8, o AR @ G 8 |

It is full of facts that need to be remembered. I

(©) T fR=Tem da ahmwﬂaﬂ»"ﬁﬁﬁm%

#é-... . Itinspirescritical thinking and imaginative. _—
S @ mmmﬁa%sﬁtwcﬂ%wwmﬁam )

. It is less scientific and based on pc'ccptl-:ms.

63. T AR % Regrl T TR Ot B B

Pt rdrepin s e e vl Wyt

Which of the followirg human valués

important to ensure the prmuple/‘ffiqcm equality?

(a) 1:TI“?I'F‘JHI/C()mpf:lm" b LA J\

(b) TR T/ Mutual idéAlF e,

ﬁ.\ ﬁ g
: ‘-:'u.u[_: ﬁ ﬁ ﬁ_a_ I
aﬁmﬁrﬁ-ﬁ:maﬁ@ﬁmmaﬁ 27 |

A lcacher wants that lus sludenl tr) to know the sources

_offundsa\(almbleto mumupalcorboral-on Whichofihe o

I
|
i (a W ﬁ faﬂ?‘I W/To discuss amonglhemselves I
: (OF mﬁ i%wm T ST e |
h Orgaruze a specialist’s speech I

(c)" H@T{T o F) CCRL |

e lndme Govemmenl Websites :

(d) Frfaeri & Mo Yeameit |
invite meetings with councilors I

65. Frefeian ¥ A ferw fowar Wikt = wd et |
FUURERIE I T G T oo e 22 {

I

- _58B,

Sari u'd;'.& CBF;Ipr:t',

70.

nedrHariom Touer, Ranchi:

What would be the most apf

teach ‘rvevoluliqu of the g
(@) "feaMap , ©
(©) ﬁa;slobc

dc/Housekeeping liability. ... _u-..
Only Bis relevant & =
Al G 2/Both A and B are relevant
aﬁmﬁﬁ' ¥BothAand B are irrelevant
(d) Sde1 ATEITH R/Cnly Ais relevant
feenfial @t simgraent & wa W @ R
w01 ¥ Prevfrfs & R @ wathrs -

¥ s ity :
Which of the following would be appropriate for
encouraging students to think like historians?

(a) Feml AR Tt ﬁfﬂ/SIory-te]ler method

(b) oI 'I%Ifﬂ/lnquiry method

(c) & fafu/Source method

(" i ﬁfH/Projecl method

“wEET T v & ferr wed or=dt farfis Ent:

The best method to teach ‘factory’ topic will be:

(@) foreht Sfrenfies wwEm =t amn s =

To organize a visit to an industrial factory
b) TH SiPHA fher femam
Show a documentary photo

(c) T HEHT TV Tell a story

() Toreh foetem =t TP ST Invitinga specialist
T & fava ¥ Feafafas @ o w
Tt Fify ok wEt 3w = wE s

Consider the following three statements regarding ‘Rig

Veda’ and select the correct answer;

Mobile No. ; 0651-6900066,9633466652.717 -
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71, W w&d (FEE f9) WOR ) v @ f

AT 2T

; L e
Sl D

TE-am G S ptudyplanetranehidendil.com )

A, @8 3500 o g2 feren ey o
1t was written 3500 years aga,

B, TEE T WA W A g e
It was composed in Prakrit,

c. T Th B 8 s wefand
There are more than a thousand praye

(a) BEE ¢, AN Ciemm ¥
Bis nght A and C is wronp
) cud 2, A Bwa R

Cis right, A and B are wrong
© ATaa ¢, B3l cawt Y
A is wrong, B and C are correct

@ AFE 2, B 3T Ciema ¥

Ais correct, B and C are wrong

s in this,

|

I

I

|

I

I

|

.

|

|

I

I

:

|75
I

I

ngmmwmﬁmwﬁi
1 o Frafefaa wereemd ¥ | fead fRaa &7 |

The Monaky Mountains (Hawaii Islands) are located |

following oceans?
(@) T HETEMVPacific ocean
(b) HTHTZSH TETEMUArctic Ocean

M " ;.T 's
|‘v "
QV

OIRRTUCENUTHRE A SR K ES O]
They wete codeentrated in the north-west of the «
Indian subcontinent, .

g I R ) el ) fafisa e
o feag fea smn an

They were used to mark the places of burial,

Al of these went undergroyyii@ s
A yrer T SN I K i3
H A '

()

(c)

(d

HIMQ a4

to
I,
't

An‘asf::rmds found between Mars and Jupiter’s orbit

- ;
¥ NG g “
) &= WEWMWindiaa Ocean \‘ “]'.w{"fﬂx (b) Tk HIE fafifa wrdta I
r h Pt
(d) ATl Cen m[\ﬂanucOceaq X | t:'l?z.:‘) A man-made Indian satellite
72. ‘fa=a foew’ rnw%aﬁaﬁqﬁﬁyﬂm% ! (o) e o s wrrE-fafia sl w5 g W@
‘Vinay Pittak’ is a treatise llmtrecords A i Feql ¥ e b e s
(@) foa=i= o aﬁiﬁmnter action beu\un 1éac heI; | Rocket which is used to install human-made satellites
by A H fmmuddlmtrules o | in the orbit of the sun
(c) L] im o) ﬁ’I&T’Q/Jumnm Icuchmg,s : l {d) | “ k] -Tn ﬁgl
iy A new planet discovered in the solar system
(d) 'G'I:ﬁﬁ' mf\v’ndtc rituals kL | C A :
~ : Frefafaa afidesl W | foas wrma wfeq sfifaa
73. ‘qzarﬁm'(a@mﬁi)%maﬁmmmﬁln' e ﬁﬁ. ) 3
Hq w27 I Fa T Sia §, T AgEET | YdTaH & SRR
. E \47
Wh:choflllcfollo\\mgcarcol'l!mwurkol“l’:ltwaris’ I % ﬂ% & .
: . | In which of the following regions, living creatures,
(the writers)? . , ]
; | including humans. are found which are affected by the
(@ "m”?lﬁu‘{ﬂ w“ﬁmf | number of geologists in the majority?
HEIJ 2 7 I! La'] = 1 N .
) T 3 A e = R . g o : (@) ¥IEIST/Lithosphere (b) STgHST/ Atmosphere
e ‘oft!:e police fx:mon of the respective area. I (c) SaHEe/Biosphere (d) STETHET/Hydrosphere
(c) 'EIF-IF‘I*JPJU 1 qI99/Sarpanch of Gram Panchayat i 78. WRA 1 TFHT USH, H e v ® =
) TEHITTIV Tehsildar | Pcfatea ¥ @ de @ few doit & st 82
4 tfa L 'E' 4 fretafaa wet & | I The Deccan Plateau of India, which is madie of Basalt
~Hl BT HE 17 : Shells, ccme under which of the following range?
Y™ i s H i A .
Which of the fallowing statements about the megalithics l (a) arTel Ay e/ Interdenal igneous rock
. ,, X .
18 correct: | (b) <P ey Functional shell

= 5sB; Sa:mudra'Cor:nplex,'i;e&rPiq;rigr;l‘%lfriﬂ(moﬁi Mgbile N&_.:5551-@‘90006‘9‘,9693-]6‘6‘6'6‘2 [18]
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(c) wamrd "'&WS'.dimcmzr/ ok ;

(d) e iy g somian igieos ok |
79. frefafun v # 4 e om0
W U WA I
In whick of the following strings, the abundance of :
mineral deposits is found. '
(@) TVMountain  (0) THUPlatezs !
(©) & Mhevalley  (d) ‘hﬂ’ﬁiﬂd{ ) ]
T i ol % wera # vefafEa 9w |
T fa=m wifay: I

Regarding the elections in democracy, consider the |

 BO.

following two statements: l
. Sy zitn i v et 21 o |
x4 Am A A W 7 F
Ezssicdcochcickd I

People in the representative democrzcy choose their |

representative and pzniicipate indirectly, they make |
laws and rules for the whole country. I
. W Prafaa <Al g a5 = T 2
Governments can he replaced by regular lectic
wE1 faweq F1 3fm/Select the correct offt
(@) ATTA %, BTE 2/ A is wrong, Bis right
() A% BT 7 21Both A and Bz comect
(c) A B0 B =M 774 2/Both A znd [i;?q WIOng

(c) %18 e o s oy A T A B
] -

The Sy of te Crran Sl is cersed by s b,

) B oy v W vk B A T
Pachoaprs o Sypsean st sennd e f Dt Coxcl
23, Frettafor mfprit i 4 St whardt i Pt

» )

&) % =Gy
(©) ¥TBE P ferrnp

2. Wm'% .0

2 P - ey & o~ -
() Tz F57% 77 4% v % famrs o 7=

_ ‘ | It was powerful agzinst the weak Bundelzs znd
@ ATA 3 BT A conec Biswmng | Marsths,
81. Treafafma & & Fm-m.q0m =7Em = 07 | () 7% UF Fgg T 4 7T FA 2 TR
=d T %72 & . . | 77 7931 7 v § o e

4]

Chahaarbagh’.’l ‘ Y [ ;
(a) AT AT Shalimas garden :#
(b) A Bz ATLal Mahal garden
(c) Hj‘&‘ﬂivﬁ-m "—'{ﬁ??-!’-'/lv(liry-.-.'at-uf-lslam Mosque
(@) z7. FE/ Humagun’s Tomb
82" wa ¥ vt 7w % wvae # froAfaian

- . .-“ 4 . - -
Which of the following statements is true in relation to

SO, V. Boret s
Which of the following is nut a place of !\Tt{ghzl |

‘PénchayuliRaj system in India?
(8) 9 FarIA #i 7l 4w 7 £
The duration of the Gram Panchayat is 4 years.
T H AT F TR AT wA 2h A
Under the Constitutional Guidehnes, every state in J
the country has its own laws with respect 1o
panchayaic,

—— ———— —— ——— — — p— —

(=4
byl

- -58B; S_amndr:.q Contplex; nearHariorm Tquiér,'Ra:!c'hf.' y

It was a prosperous state, It grabbed 2 wild hand znd
ezmed them exporting rights in other states.
85. A FI H 15 i fufa fo, Famd from
Ttz 219t umn-fiz % =u ¥ fraem = faa
The beggar diagram oi the cave 15 o7 Ellora, in which
Vishnu was shown as Narasimha, that is, the man-lion,
which is the work of which time?
(8) =+ F17/Chalukya period
() TR T Gupta period
(c) TF-T72R FA/Gurjhar-pratihar period
(d) %2 Fi/Rashtrzkutas period
. Trofataa © 7 ‘aq faftag vgfa’ 57 fasma
FA-41 %7
Which of the following is the spceialty of “barter system®?

It’s a costly and time-consuming process
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b I= maﬂmqmmmﬁﬁmm‘ Ecosystem 4 Eﬂmfiuﬁaﬁrﬁ\%
R 3 | Almost all the weather - !
This is the trade of commodities without usi ngthemoney | events occur in this layer. \
(c) T & = R, e wegetl @ ween A v | @ ® © @

@ @ O o i
wam e s ) , | © i) & 6 G
' © & @ @@ 0

This is the trade in which the money is used in

exchange for the goods. } @6 @ @ o
(d) T% TGN F A-3A Y A T L | %0 mﬁﬁrﬁiﬂruﬁﬁ‘%
- lwmakettransactions of goods easy. _‘"—l_‘_wm T wH:

87. mmﬁfiﬁﬁ?ﬂ% B I s | In the context of medicald

Of which of the following topographies do go to
‘Chhataaraka Shell*?

: following two statemen®
(@) forg fefg/Glacier t
®) W9 THV/Marine Cave : |
(c) WA Desert - (d) S®/Delta |
ge. Frefafas # ¥ frmerd g o s 183"f‘€!ﬁ'|
-8 et ot | erem 2w
Which of the follawing led Bengal to the 18th century | 5 _
gradually separated from Mughal control" PR ;: 1 i galﬁ-\ %', N T ™ 'é- .
GHWWWﬂwmwwm“fh_-'eaW, .fammwmwwmwﬁﬁ
Nizam-ul-Mulk-Asf Jah . CE, 13 (= ;
(b) ARG @/ Alivardikhan

e foea 0 gt v 2 < 3
Ti'IﬁT Y&/Nadir Shah

They are migrants from within India, who go from
one state to another for their treaiment in hospitals
in the state, where they get world-class facilities at a

lower cost than their state.
& fawew =t 'ﬁﬁTQ/Select the correct option.
(a) ATTeTd %, BEA /A s wrong, B is right
(9)] A SR B2H ¥&l €/Both Aand B are correct
(c) A3 B Sl Teld 8/Both A and B are wrong
(d) ATE %, BT R/A is correct, B is wrong
HET-1V

e (R )
WEequl: Theme WoE 91 W 120 & W B IW
wom adl € afk 3= -1 e = g A
:Ate:zilcaili‘lrin“ from | Fiear: :ﬁ_é e B8 TR ! TEt H\TB T
space ;u'e\burned \iha:ﬂ | (9% §. 91 9 99) % WA Ife I e
thev come in this layer. | faey =t ‘ﬂﬁm

Mesosphere T gt B I H3 foedegR & w § e R 9y @
There is a layer of ozone I T ® ﬁﬁ.ﬂ, T S Weehfadl & SieR o I

- gas in it. | W T S B % wen-fae 3 I T TR

(d) aTRIHSw (V) ﬁ’meﬁmmwﬁmﬁ{
|

89.

o @ o1, T 1 Ae-uen e <afaal §
T T 3R w7 D e o oegm R 2R e A
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(@) TN 1000 @ qff o I
(©) T 500 A g, ‘[I l “_‘ o
(c) amm Wv'h o) ) ";,i |
(d) s 1sooer doqp :
92, ﬁmﬂﬁara‘; AR s oy ‘% |
(a)y T Ronfer v L (b) nTi'ﬂ o S |
_(c)ﬁ?xﬁmvﬁ“ﬁmm-n?ml I
(d) v W 3TEN TN |
93. - ‘afeer’ frw Jor-wder = wm §2 o1,
(a) Afterrg (b) :
(c) wAfewH (d)  sitefemr |
M. S el S W T W n g I
(a) WA W Teelel | o I
(b) T 1 faTeER | e |
(c) frrarga @1 wore | o I
(d) ¥R & ST @ e :
I
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(2) WA R U el e #
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(a) a= W WO A B YG I B u
® wfau|

(o) a= B R o AR W arfim-d-arfimr
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g § We = Sy aw R
A HY T W aerEn R R
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T afda awm sfifa
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a stupendous moment in My life, in the It'rf\e ::ef ttt!hr:
women of my country. | felt | was tr_acnng notthe o
of my name, but recording a historic.event There ;
not much time for thought, however. The next |r::htgn
we were filling out, taking the road to the sea, r'na T ﬂlg
with quick steps. Great sky-rending cries or Jai'fi

the air. Heavy-scented flower garlands almost
smothered us. From the balconies and roofs unseen
hands showered rose-petals until t become a

@ B fm @ WS

© gD fw (@) s B

wfa g &t wr &

(a) 9% Yea™ ol § Hie Gl Al

b)) IE FaRH ! @R e Y

(c) 3W W T =t g

(d) ® %o THH w1 e

g W T gl we § AT W A &
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Candidates'shculd attempt questions

from Q Nos. 1210 150, if they have opted ENGLISH

as Languaga-1 only.

Dircciions: Read the passage given below and

answer the questions that follow (Q. Nos. 124 to 128)

by selecting the correct/most appropriate options.
"Altho_ugh India has a tradition of women warriors,

participation in the Salt Satyagraha was their first

appearance in any modern rnilitant pclitical and | could |

hardly suppress my excitement at the enormity of |

the occasior: and my own good fortune to the amongst |

the first As | attached my name to the pledge todevolte | 125

myself to my country's freedom hattle, my hand shock

alittle under my tumuituous emotions. It seemed such |

|
I
|
I
I
|
I
|
I
|
I
I
I
|
I
p

22.
2

3
24,

Compiex; wear Hariom Tower, Ranchi

carpet of flowers. Often our mar ped and
bright-eyed women sprinkled from silver
sprays, tipped our-palms wj te and
perfume and blessed us

and faces for good o

re population onto
g batch of seven

gs of women amongst them,
Wpriors, gracefully balancing their
n-red earth and shimmering brass
ousand hues as the sunrays struck
1 lit my little fire to boil the saltwater, |
ds cf fires aflame dancing in the wind.
r pans sizzled in laughter while their bosoms
traced the white grains of salt as the heat lapped up
8he last drop of water.

articipation in the salt Satyagraha evoked in
the author a feeling of:

(a) excitement (b) fear

(c) ecstasy (d) pride

The author took a pledge to:

(a) serve the poor people of India.

(b) be partof India's freedom struggle.

(¢) launch a literacy campaign

(d) fight against social evils

. The warm welcome given to the Satyagrahis showed:

(@) thefull support of the people for breaking the Salt
Law.

people's hatred of the British

general resentment against British exploitation
of the people

that the Indian people turn every event into a
joyous occasion.

"A sea of human faces that swayed and danced"
means:

(a) peopie bathing and frolicking in the sea

(b) alarge number of enthusiastic people

(c) huiman faces resembling a sea

(d) people dancing whiie bathing

. Wornen lighted their little fires on the seashore to:

(a) boil seawater to make salt
(b) express their anger against the British

Mobile No:: 063 1:G900066 9695166662 (23] -
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(c) make tea and drink it to overcome their fatigue |
(d) protectthemselves from cold |
126. The word which nearly means the same as |

William Wordsworth as
words of each lihe _
trying to draw the attention

The Solitary Rapair by
children to find how the last

sound. What is she

‘stupendous’ Is: | of learners to?

(8) significant () influential (@) Rhymescheme Vocabulary

(c) wonderful (d) crucial | () Themeofthepoem(d) Speling of words of
127. The word opposite In meaning to the word | 437. To help the students overcome the problems

rr)m;d u‘uud in the passage is: : spelling mistakes, the teacher wijj use___ &5

a) decen ) fawni the teaching strategy.

(c) gentle (d humt?lg | (a) pronunciation drill ® d
128. Which part of speech Is the underiined word in | (c) loud reading @ feh ——
-———the following sentence? — =1 438, Grammar-transiation 9 I

*I could hardly suppress my excltement."
(a) Adjective () Conjunction

(c} Pronoun (d) Adverb
Directions: Answer the following questions (Q.
Nos. 129 to 143) by selecting the correctmost
appropriate options. ’

When children are introduced to English as a
second language:

(a) they shoula be exposed ta language orally

{t) they should begin writing first

(c) they should read first

(d) they should begin with letters of alphabet
Eclecticism in language teaching refers to using: .
(@) the best method of teaching

(b} technology to teach language

(c) allthe methods to teach larguage
(d) appropriate strategies from various methods of ted®
Which of tha following approacgslmetho -

129,

130.

131.
advocates linguistic competence an ‘ormance?
(@) Direct method (b) Stryeft
(c) Communicative approach ¢ 7%
() Grammar-tranclation method =
Global listening is not listgiing:

(a) atdifferent levels of GdmprenBsi
(b} forimproving rgéog[__i_,'_f spoke
(c) for specific information s
(d) without being constrained b S
Which of_,.qu"*followihg activitiés,ne
taken care offor helping non-na ive's
produge the sounds of the targetfanguage?
(aj -~.£:§iy_in9’ that the'words spoken are intelligibie

\Ji IOQI{ETS i,
() ‘Maintaining the regional interference
(c} Distinguishing the vowel from consonant sounds

_(9)-Imitating the Way a native speaker produces
o loslids
134;"~‘§f,‘,0j";cdl‘!gept of transformative-generative
grammar was given by:
(a) “Noam Chomsky  (b) Piaget
(c) Bruner (d) Ferdinand Saussure
Tai! question aiso refers to:
(a) insignificant question
(£) mostimportant questicn
(cy follow-up question
(d) question tag
136. Ateacher of Class VIl while teaching the poem,

132,

133.

135.

|
|
|
I
| 139.
I
|
|
I
I

| 143.
I
|
|
I
I
I
I
|
I
I
I
I
I
I
|
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heavlly relies on:
(a) directteaching

A Band C
a child's progress that a
y-to-day basis is:
() rating scale
(d) anecdotal record
lass V1 in a writing assessment task
ts to write on: "if | were famous for
_"Thisisassessmentofalan___answer.
(a) factual (o) descriptive
$ narrative (d) extrapolative
goad language textbook should:
A contain learner-centered materials
B. contain teacher-friendly instruction and
content related materials.
C. incorporate language skills throughout
D. have more syntactical items ir its content
Which of the above are true?
(@ A, BandD b) A, CandD
(c) B,CandD (d A/ BandC
Kavya notes down the errors committed by
learners of the class and discuss them once in a
fortnight. What is this practice known as?
(a) Assessment (b) Eiror correction
(c) Providing feedback (d) Evaluation
Directions: Read the passage given below and
answer the questions that follow (Q. Nos. 144 10 150)
by selecting the correct/most appropriate options.
Where does all our garbage disappear once it
leaves our homes? There are four methods of managing
waste: recycling, landfilling, composting and burning.
Each method has its strengths and weaknesses.
Recycling is process of turning waste into new
materials. For example, used paper can be turned
into paperboard, which can be used to make book
covers. Recycling can reduce pollution, save materials
and lower energy use. Some argue that collecting.
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processing and converting waste uses more thanit saves. |
Landfilling is the oldest method of managing |
waste. Landfilling is to bury garbagein a hole. Over da I
period of time the process of landfilling has.advance ‘t'
Garbage is compacted before it is thrown m?o the pit. I
In this way garbage can fit in each landfill. La:'ge
garbage bags are placed at the bottom of a Iandﬁl SO
that toxic garbage juice does not get mto the I
groundwater. But in spite of the bags, lanAdf|I|s miy
pollute the underground water. Not to mention that all |
— - garbace stinks. No body wants to live nextto a landfill. |
As landfill space increases, interest in compositing |
grows. Composting is when people pile up organic |
matter, such as food waste, and allov‘_/'n t_o
decompose. The product of this decompositien is
compost. Compost can be added to the soil to rake

the soil richer and better for growing crops.

One thing that is easier to do is burning garbage. [
There are two main ways to burn waste. The firstis to |
harvest fuel form the waste. The second is to burn the |
waste directly; the heat from this burning process can |
boil water, which can power steam genearators.

Unfortunately, burning garbage pollutes the air.
144. Garbage recycling:
(@) saves only a little energy
(b) wastes a lot of energy
{c) uses more energy than it saves
(d) saves alot of energy
145, Considerthe following statements:

A.  Landfiling does not allow water and air pollution

B. Composting is better than Iandﬁmi

Which of the above statements isf@ire trﬁg?
(@) Only B (b) NejtherAnorB
(c) BothAandB (d) Only'A: P ¥

(@) composting and buﬁﬂng
(b) recycling and compasting
(©) burning ana landfilling®* - SN
(d) recyclingandbumjng = .
147. Consider théfollowing statements;
A. We do not use any erergy in the process of
composting. .
B. Burningcanbea source of energy.
Which.of the above statements is/are true?
(@) ‘NeitherAnorB (b)) Only A
() OnlyB - ; (d) BothAandB
148. Compacting of garbage is done to:
)] remove thesink  (b) save space
(c) ‘avoid soil pollution (d)  protect groundwater
149. ".....the process of turning waste...."
The word "turning' is a/an:
@ very (b) adjective
(€) partciple (d) noun
150. "There are two main ways to burn waste."
. The underlined words is a: T
\a) verb (b) participie
() gerund (d) noun

146. Itis safe to dispose of,g‘arﬁgggnﬁthrough:

.......
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